UruvtuhuU buenkruuvu duae
UN0zN9uaruuunl ttyuauer

Ut wuydwbwugph qény
Uwwhnjwugpnipjub npuukp Uwljmght wnukjmqgnih
wywhnjuqpuljmb gnidwp
1 qdfgihill?mu;;lﬁi;?izpbg 0.15%, shwunmgynn gmdwp sjw 9.000.000 zZ npud
2.5%, shunnnigynn gnidwp’ 1%, ny yuwljuu 50.000 22 npud, dhgh 3
Jupnpr, sh oginugnpdynid npyku wnwpuh. 2.5%, shwnnigynn
) Swdwpuwjhti npuwiunynpinh gnuduip’ 1.5%, ngyyuljuu 80.000 22 npud, wuwhdwbwthwl] pyny 5.000.000 22
.000. npuud
wywhnjugpnipnil Juipnppubp, sh oginugnpdynid npujtu mmwpuh. 4.5%, shwwnnigyny
gnudwn’ 4%, ny upuljuu 200.000 22 npuid, whuwhdwbwthwly pynyg
Jwpnpniibp, hupnn £ oginuugnnéyly npwbu tnwpuh
0.15%, shwwnnigynn gnidwup’ wywhnjugpuljwb gnidwph 0.5%,
3 Qnyph wywhnywqpnipnil ujuqugnyun 50.000 22 npud, pjpuwowpdh nhypnid” 2%, puyg ny 30.000.000 zZ npuu
wuljuu 90.000 22 npuithg
4 UNNU yuydwbwgpk 11.800.
A e Pmnipniht §nnuhg vwhdwijwsd swthny 00.000 22 nprund




